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The graphs in Figure S1 represent how Figure 7 was extracted.

Figure S1

Fitted Line Plot Fitted Line Plot
IMS 1 = 23271 + 658.2t- 12,99 tA2 + 0.06299 tA3 IMS 4 = 4659 + 101.5t- 3175 tA2 + 0.02149 tA3
34000
K giotorind L s 111905
22000 RSq 756%

jo
25% Rsq 246%

R-Safad
ol RSq@g))  385%

30000

6000
28000
- <
£ 2w € s
24000
4000
22000
20000 % 00 .
) 20 40 ) 8 100 120 “ 2 % 60 80 100 120
t t
Fitted Line Plot Fitted Line Plot
IMS 5 = 39290 + 616.2 t- 13.05tA2 + 0.06607 tA3 IMS 12 = 28326 + 346.8 t . ***xtA2 + 0,06605 tA3
37500
47500 $. 122262 S 313955
R-Sq 954% R-Sq 865%
R-Sq(adj) 815% 35000 R-Sqfadj) 46.0%
45000
32500
n 42500 o
2 2
= = 30000
40000
27500
37500
. 25000 .
35000
0 20 4 0 80 100 120 0 2 40 ) 80 100 120
t t
Fitted Line Plot Fitted Line Plot
IMS 13 = 22298 + 221.7 t- 4261 tA2 + 0.02044 tA3 IMS 16 = 39786 + 8783 t- 1877 tA2 + 0.09249 tA3
26000
s 210370 s 167816
R-Sq 989% 50000 R-Sq 976%
R-Sq(adj) 958% R-Sqladj)  904%
25000 {
45000
) ©
a 2
@ 24000 @
S £ oo
B 35000
22000 . 30000 >
0 20 ry ) 8 100 120 0 0 4 ) 8 100 120
t t

IMS | Extraction
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Fitted Line Plot

IMS 1= 26272 + 4705t - 10.37 tA2 + 0.05492 tA3
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Fitted Line Plot
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Fitted Line Plot
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